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This is a booklet of word searches to help pupils with

their spellings.

The booklet becomes progressively more challenging.
Pupils do not need to work through the booklet from
the beginning but choose the most appropriate word
searches. There is also a link in the online resources
document that allows you to make your own word

searches.

The table below shows the different word lists that
have been used for each word search.

Word searches

Word list

100 Frequency Words

1-7 (Most common words used in
writing)
8 -10 Year 2 Spelling List
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